RULES TO REMEMBER WHEN COUNTING ATOMS
A subscript after an element indicates the number of atoms of that element.  If there is no subscript than there is only one atom of that element.  Example:  H2O there are 2 hydrogen atoms and one oxygen atom.

A subscript following parenthesis represents the number of radicals in that compound.  Parenthesis are only used around radicals.  Example:  (NO3)2 means there are two NO3 groups, hence 2 nitrogen atoms and 6 oxygen atoms.

A prefix in front of a compound indicates the number of molecules of that compound.  Example:  2 H2O.  This means there are two water molecules, hence 4 hydrogen atoms and 2 oxygen atoms.

	Compound
	Name of elements
	# of atoms of each element

	NaCl


	
	

	KClO3

	
	

	H3BO3

	
	

	Ca(OH)2

	
	

	Fe(NO3)3

	
	

	3CuO


	
	

	3CaCO3

	
	

	2Ca3(PO4)2

	
	

	2Fe(OH)3

	
	


